

# Curvature pinching for complete totally real submanifolds of a complex projective space

Yoshio Matsuyama

ABSTRACT. Montiel, Ros and Urbano [7] showed a complete characterization of compact totally real minimal submanifold  $M$  of  $CP^n(c)$  with Ricci curvature  $S$  of  $M$  satisfying  $S \geq \frac{3(n-2)}{16}c$ . The purpose of this paper is to give the other proof for answering [5] and [6] of Ogiue's conjecture which the above result remains true under the weaker condition of the scalar curvature  $\rho$  of  $M$  satisfying  $\rho \geq \frac{3n(n-2)}{16}c$ .

## 1. Introduction.

Let  $CP^n(c)$  be an  $n$ -dimensional complex projective space with the Fubini-Study metric of constant holomorphic sectional curvature  $c > 0$  and let  $M$  be an  $n$ -dimensional compact totally real minimal submanifold isometrically immersed in  $CP^n(c)$ . Let  $h$  be the second fundamental form of  $M$  in  $CP^n(c)$ .

Close to thirty years ago, Montiel, Ros and Urbano [7] proved the following: Let  $M$  be an  $n$ -dimensional compact totally real [1] minimal submanifold isometrically immersed in  $CP^n(c)$ . Then the Ricci curvature  $S$  of  $M$  satisfies

$$S \geq \frac{3(n-2)}{16}c$$

if and only if one of the following conditions holds: a)  $S = \frac{n-1}{4}c$  and  $M$  is totally geodesic, b)  $S = 0$ ,  $n = 2$  and  $M$  is a finite Riemannian covering of a flat torus minimally embedded in  $CP^2(c)$  with parallel second fundamental form, c)  $S = \frac{3(n-2)}{16}c$ ,  $n > 2$  and  $M$  is an embedded submanifold congruent to the standard embedding of:  $SU(3)/SO(3)$ ,  $n = 5$ ;  $SU(6)/Sp(3)$ ,  $n = 14$ ;  $SU(3)$ ,  $n = 8$ ; or  $E_6/F_4$ ,  $n = 26$ .

Ogiue [9] conjectured the following: Under the weaker assumption of  $\rho \geq \frac{3n(n-2)}{16}c$ , the above result remains true, where  $\rho$  is the scalar curvature of  $M$ .

With respect to this conjecture the author [3] and, independently, Xia [12] showed: Let  $M$  be an  $n$ -dimensional compact totally real minimal submanifold isometrically

immersed in  $CP^n(c)$ . Then

$$|h(v, v)|^2 \leq \frac{1}{8}c$$

for any  $v \in UM$  if and only if one of the following conditions is satisfied: A)  $|h(v, v)|^2 \equiv 0$  and  $M$  is totally geodesic, B)  $|h(v, v)|^2 \equiv \frac{1}{8}c, n = 2$  and  $M$  is a finite Riemannian covering of a flat torus minimally embedded in  $CP^2(c)$  with parallel second fundamental form, C)  $|h(v, v)|^2 \equiv \frac{1}{8}c, n > 2$  and  $M$  is an embedded submanifold congruent to the standard embedding of:  $SU(3)/SO(3), n = 5$ ;  $SU(6)/Sp(3), n = 14$ ;  $SU(3), n = 8$  or  $E_6/F_4, n = 26$ .

Gauchman [2] showed a similar result under the assumption of  $|h(v, v)|^2 \leq \frac{n+1}{12n}c$ . The purpose of this paper is to answer Ogiue's conjecture.

**Theorem** *Let  $M$  be an  $n$ -dimensional compact totally real minimal submanifold isometrically immersed in  $CP^n(c)$ . Then*

$$\rho \geq \frac{3n(n-2)}{16}c$$

*if and only if one of the following conditions holds:*

A)  $\rho = \frac{n(n-1)}{4}c$  and  $M$  is totally geodesic,

B)  $\rho = 0, n = 2$  and  $M$  is a finite Riemannian covering of the unique flat torus minimally embedded in  $CP^2(c)$  with parallel second fundamental form,

C)  $\rho = \frac{3n(n-2)}{16}c, n > 2$  and  $M$  is an embedded submanifold congruent to the standard embedding of:  $SU(3)/SO(3), n = 5$ ;  $SU(6)/Sp(3), n = 14$ ;  $SU(3), n = 8$  or  $E_6/F_4, n = 26$ .

Xia [13] showed a similar result under the assumption of  $|h|^2 < \frac{n+1}{6}c$ .

## 2. Preliminaries.

Let  $M$  be a Riemannian manifold,  $UM$  its unit tangent bundle, and  $UM_x$  the fibre of  $UM$  over a point  $x$  of  $M$ .

Suppose that  $M$  is isometrically immersed in an  $(n+p)$ -dimensional Riemannian manifold  $\bar{M}$ . We denote by  $\langle \cdot, \cdot \rangle$  the metric of  $\bar{M}$  as well as the one induced on  $M$ . Let  $h$  be the second fundamental form of the immersion and  $A_\xi$  the Weingarten endomorphism associated to a normal vector  $\xi$ .

Now suppose that  $M$  is an  $n$ -dimensional totally real minimal submanifold immersed in the complex projective space  $P_n(C)$  endowed with the Fubini-Study metric of constant holomorphic sectional curvature  $c$ . Let  $\nabla$  and  $h$  be the Riemannian connection and the second fundamental form of the immersion, respectively.  $A$  and  $\nabla^\perp$  are the Weingarten endomorphism and the normal connection. The first and the second covariant derivatives of the normal valued tensor  $h$  are given by

$$(\nabla h)(X, Y, Z) = \nabla_X^\perp(h(Y, Z)) - h(\nabla_X Y, Z) - h(Y, \nabla_X Z)$$

and

$$\begin{aligned} (\nabla^2 h)(X, Y, Z, W) &= \nabla_X^\perp((\nabla h)(Y, Z, W)) - (\nabla h)(\nabla_X Y, Z, W) \\ &\quad - (\nabla h)(Y, \nabla_X Z, W) - (\nabla h)(Y, Z, \nabla_X W), \end{aligned}$$

respectively, for any vector fields  $X, Y, Z$  and  $W$  tangent to  $M$ .  
 Now, let  $v \in UM_x, x \in M$ . If  $e_2, \dots, e_n$  are orthonormal vectors in  $UM_x$  orthogonal to  $v$ , then we can consider  $\{e_2, \dots, e_n\}$  as an orthonormal basis of  $T_v(UM_x)$ . We remark that  $\{v = e_1, e_2, \dots, e_n\}$  is an orthonormal basis of  $T_xM$ . We denote the Laplacian of  $UM_x \cong S^{n-1}$  by  $\Delta$ .  
 If  $S$  and  $\rho$  is the Ricci tensor of  $M$  and the scalar curvature of  $M$ , respectively, and  $M$  is minimally immersed in  $\bar{M}$ , then from the Gauss equation we have

$$(2.1) \quad S(v, w) = \sum_{i=1}^n \bar{R}(v, e_i, e_i, w) - \sum_{i=1}^n \langle A_{h(v, e_i)} e_i, w \rangle,$$

$$(2.2) \quad \rho = \sum_{i, j=1}^n \bar{R}(e_j, e_i, e_i, e_j) - |h|^2,$$

where  $\bar{R}$  is the curvature tensor of  $\bar{M}$ .  
 Define a function  $f_1$  on  $UM_x, x \in M$ , by

$$f_1(v) = |A_{h(v, v)} v|^2 = \sum_{i=1}^n \langle h(v, v), h(v, e_i) \rangle^2 .$$

Using the minimality of  $M$  we can prove that

$$(2.3) \quad \begin{aligned} (\Delta f_1)(v) &= -6(n+4)f_1(v) + 8 \sum_{i=1}^n \langle A_{h(v, v)} v, A_{h(v, e_i)} e_i \rangle \\ &+ 8 \sum_{i=1}^n \langle A_{h(v, v)} e_i, A_{h(v, e_i)} v \rangle + 8 \sum_{i=1}^n \langle A_{h(v, e_i)} v, A_{h(v, e_i)} v \rangle \\ &+ 2 \sum_{i=1}^n \langle A_{h(v, v)} e_i, A_{h(v, v)} e_i \rangle . \end{aligned}$$

Similarly, define  $f_2, f_3, f_4, f_5, f_6, f_7, f_8, f_9, f_{10}, f_{11}, f_{12}$  and  $f_{13}$  by

$$\begin{aligned}
f_2(v) &= \sum_{i=1}^n \langle A_{h(v, e_i)} v, A_{h(v, e_i)} v \rangle, \\
f_3(v) &= \sum_{i=1}^n \langle A_{h(v, e_i)} v, A_{h(v, v)} e_i \rangle, \\
f_4(v) &= \sum_{i, j=1}^n \langle A_{h(e_j, e_i)} e_j, A_{h(v, v)} e_i \rangle, \\
f_5(v) &= \sum_{i=1}^n \langle A_{h(v, v)} v, A_{h(v, e_i)} e_i \rangle, \\
f_6(v) &= \sum_{i, j=1}^n \langle A_{h(e_j, e_i)} e_j, A_{h(v, e_i)} v \rangle, \\
f_7(v) &= \sum_{i, j=1}^n \langle A_{h(e_i, v)} e_i, A_{h(v, e_j)} e_j \rangle, \\
f_8(v) &= \sum_{i=1}^n \langle A_{h(v, v)} e_i, A_{h(v, v)} e_i \rangle, \\
f_9(v) &= |h(v, v)|^4, \\
f_{10}(v) &= |h(v, v)|^2, \\
f_{11}(v) &= \sum_{i=1}^n \langle A_{h(v, e_i)} e_i, v \rangle |h(v, v)|^2, \\
f_{12}(v) &= \left( \sum_{i=1}^n \langle A_{h(v, e_i)} e_i, v \rangle \right)^2, \\
f_{13}(v) &= |h|^2 |h(v, v)|^2,
\end{aligned}$$

respectively. Then we obtain

$$\begin{aligned}
(2.4) \quad (\Delta f_2)(v) &= -4(n+2)f_2(v) + 4f_6(v) \\
&+ 4 \sum_{i, j=1}^n \langle A_{h(e_j, e_i)} v, A_{h(v, e_i)} e_j \rangle \\
&+ 2 \sum_{i, j=1}^n \langle A_{h(e_j, e_i)} v, A_{h(e_j, e_i)} v \rangle \\
&+ 2 \sum_{i, j=1}^n \langle A_{h(v, e_i)} e_j, A_{h(v, e_i)} e_j \rangle,
\end{aligned}$$

$$\begin{aligned}
 (2.5) \quad (\Delta f_3)(v) &= -4(n+2)f_3(v) + 2f_4(v) \\
 &+ 4 \sum_{i,j=1}^n \langle A_{h(e_j, e_i)}v, A_{h(e_j, v)}e_i \rangle \\
 &+ 4 \sum_{i,j=1}^n \langle A_{h(v, e_i)}e_j, A_{h(e_j, v)}e_i \rangle, \\
 (2.6) \quad (\Delta f_4)(v) &= -2nf_4(v), \\
 (2.7) \quad (\Delta f_5)(v) &= -4(n+2)f_5(v) + 4f_6(v) + 4f_7(v) + 2f_4(v), \\
 (2.8) \quad (\Delta f_6)(v) &= -2nf_6(v) + 2 \sum_{i,j,k=1}^n \langle A_{h(e_j, e_i)}e_j, A_{h(e_k, e_i)}e_k \rangle, \\
 (2.9) \quad (\Delta f_7)(v) &= -2nf_7(v) + 2 \sum_{i,j,k=1}^n \langle A_{h(e_j, e_i)}e_j, A_{h(e_k, e_i)}e_k \rangle, \\
 (2.10) \quad (\Delta f_8)(v) &= -4(n+2)f_8(v) + 8 \sum_{i,j=1}^n \langle A_{h(e_j, v)}e_i, A_{h(e_j, v)}e_i \rangle, \\
 (2.11) \quad (\Delta f_9)(v) &= -8(n+6)f_9(v) + 32f_1(v) \\
 &+ 16 \sum_{i=1}^n \langle A_{h(v, e_i)}e_i, v \rangle |h(v, v)|^2, \\
 (2.12) \quad (\Delta f_{10})(v) &= -4(n+2)f_{10}(v) + 8 \sum_{i=1}^n \langle A_{h(v, e_i)}e_i, v \rangle. \\
 (2.13) \quad (\Delta f_{11})(v) &= -6(n+4)f_{11}(v) + 16f_5(v) + 2|h|^2|h(v, v)|^2 + 8f_{12}(v), \\
 (2.14) \quad (\Delta f_{12})(v) &= -4(n+2)f_{12}(v) + 8f_7(v) + 4|h|^2 \sum_{i=1}^n \langle A_{h(v, e_i)}e_i, v \rangle, \\
 (2.15) \quad (\Delta f_{13})(v) &= -4(n+2)f_{13}(v) + 8|h|^2 \sum_{i=1}^n \langle A_{h(v, e_i)}e_i, v \rangle.
 \end{aligned}$$

Since

$$\begin{aligned}
 \frac{1}{2} \sum_{i=1}^n (\nabla^2 f_{10})(e_i, e_i, v) &= \sum_{i=1}^n \langle (\nabla^2 h)(e_i, e_i, v, v), h(v, v) \rangle \\
 &+ \sum_{i=1}^n \langle (\nabla h)(e_i, v, v), (\nabla h)(e_i, v, v) \rangle,
 \end{aligned}$$

we have the following (See [3], [4] and [7]):

**Lemma 1** *Let  $M$  be an  $n$ -dimensional totally real minimal submanifold isometrically immersed in  $P^n(C)$ . Then for  $v \in UM_x$  we have*

$$\begin{aligned}
 (2.16) \quad \frac{1}{2} \sum_{i=1}^n (\nabla^2 f_{10})(e_i, e_i, v) &= \sum_{i=1}^n |(\nabla h)(e_i, v, v)|^2 + \frac{n+1}{4} c |h(v, v)|^2 \\
 &+ 2 \sum_{i=1}^n \langle A_{h(v,v)} e_i, A_{h(e_i,v)} v \rangle \\
 &- 2 \sum_{i=1}^n \langle A_{h(v,e_i)} e_i, A_{h(v,v)} v \rangle \\
 &- \sum_{i=1}^n \langle A_{h(v,v)} e_i, A_{h(v,v)} e_i \rangle .
 \end{aligned}$$

The following generalized maximum principle due to Omori [11] and Yau [14] will be used in order to prove our theorem.

**Generalized Maximum Principle** ([11] and [14]). *Let  $M^n$  be a complete Riemannian manifold whose Ricci curvature is bounded from below and  $f \in C^2(M)$  a function bounded from above on  $M^n$ . Then, for any  $\epsilon > 0$ , there exists a point  $p \in M^n$  such that*

$$f(p) \geq \sup f - \epsilon, \quad \|\text{grad } f\| < \epsilon, \quad \Delta f(p) < \epsilon.$$

### 3. Proof of the Theorem

From (2.2) we have

$$\rho = \frac{n(n-1)}{4} c - |h|^2.$$

Thus we prove Theorem under the assumption

$$(3.1) \quad |h|^2 \leq \frac{n(n+2)}{16} c.$$

The following equations hold for  $v \in UM_x, x \in M$  (See [3] and [4]):

$$(3.2) \quad \sum_{i,j=1}^n \langle A_{h(e_j, e_i)} v, A_{h(e_j, v)} e_i \rangle = \sum_{i,j=1}^n \langle A_{h(v, e_i)} e_j, A_{h(v, e_j)} e_i \rangle,$$

$$(3.3) \quad \sum_{i,j=1}^n \langle A_{h(e_j, e_i)} v, A_{h(e_j, e_i)} v \rangle = \sum_{i,j=1}^n \langle A_{h(v, e_i)} e_j, A_{h(v, e_i)} e_j \rangle .$$

In terms of (2.3) , (2.4) , (2.5) , (2.6) , (2.7) , (2.8) , (2.9) , (2.10) , (2.16) , (3.2) and (3.3) we obtain

$$\begin{aligned}
 (3.4) \quad & \frac{1}{2} \sum_{i=1}^n (\nabla^2 f_{10})(e_i, e_i, v) - \frac{1}{6} (\Delta f_1)(v) - \frac{1}{3(n+2)} (\Delta f_2)(v) \\
 & + \frac{1}{6(n+2)} (\Delta f_3)(v) + \frac{1}{3n(n+2)} (\Delta f_4)(v) + \frac{1}{6(n+2)} (\Delta f_5)(v) \\
 & - \frac{1}{3n(n+2)} (\Delta f_6)(v) + \frac{1}{3n(n+2)} (\Delta f_7)(v) + \frac{1}{6(n+2)} (\Delta f_8)(v) \\
 & = \sum_{i=1}^n |(\nabla h)(e_i, v, v)|^2 + \frac{n+1}{4} c f_{10}(v) + (n+4) f_1(v) - 4 f_5(v) - 2 f_8(v).
 \end{aligned}$$

Since  $M$  is totally real, the following equations also hold for  $v \in UM_x, x \in M$  (See [4]):

$$\begin{aligned}
 (3.5) \quad f_6(v) &= \sum_{i,j=1}^n \langle A_{h(e_i, e_j)} e_j, A_{h(v, e_i)} v \rangle \\
 &= \sum_{i,j=1}^n \langle A_{Jv}^2 A_{J e_j}^2 e_i, e_i \rangle,
 \end{aligned}$$

$$\begin{aligned}
 (3.6) \quad \text{the second term of } (\Delta f_8)(v) &= \sum_{i,j=1}^n \langle A_{h(v, e_j)} e_i, A_{h(v, e_j)} e_i \rangle \\
 &= \sum_{i,j=1}^n \langle A_{Jv} A_{J e_j}^2 A_{Jv} e_i, e_i \rangle,
 \end{aligned}$$

where  $J$  is the complex structure. Combining (2.6) , (2.7) , (2.8) , (2.9) , (2.10) , (2.11) , (2.13) , (2.14) , (2.15) , (3.5) , (3.6) with (3.4) , we obtain

$$\begin{aligned}
 (3.7) \quad & \frac{1}{2} \sum_{i=1}^n (\nabla^2 f_{10})(e_i, e_i, v) - \frac{1}{6} (\Delta f_1)(v) - \frac{1}{3(n+2)} (\Delta f_2)(v) \\
 & + \frac{1}{6(n+2)} (\Delta f_3)(v) + \frac{1}{3n(n+2)} (\Delta f_4)(v) + \frac{1}{6(n+2)} (\Delta f_5)(v) \\
 & - \frac{1}{3n(n+2)} (\Delta f_6)(v) + \frac{1}{3n(n+2)} (\Delta f_7)(v) + \frac{1}{6(n+2)} (\Delta f_8)(v) \\
 & + \frac{(3n+2)(n+4)}{6n(n+2)^2} \left( \frac{1}{n} (\Delta f_4)(v) + (\Delta f_5)(v) \right) \\
 & - \frac{(6n+8)(n-2)}{6n^2(n+2)^2} ((\Delta f_6)(v) - (\Delta f_7)(v)) \\
 & - \frac{1}{2(n+2)} (\Delta f_8)(v) + \frac{n+4}{8(n+2)} (\Delta f_9)(v) \\
 & - \frac{4(n+1)}{6n(n+2)} ((\Delta f_{11})(v) + \frac{2}{n+2} ((\Delta f_{12})(v) - \frac{1}{2} (\Delta f_{13})(v)))
 \end{aligned}$$

$$\begin{aligned}
&= \sum_{i=1}^n |(\nabla h)(e_i, v, v)|^2 + \frac{n+1}{4} c f_{10}(v) - \frac{4(n+1)}{n(n+2)} |h|^2 |h(v, v)|^2 \\
&\quad + \frac{(n+6)(n+4)}{n+2} (f_1(v) - f_9(v)) + \frac{(6n+4)(n+4)}{n(n+2)} (f_{11}(v) - f_5(v))
\end{aligned}$$

Now, we can choose an orthonormal basis  $\{v = e_1, e_2, \dots, e_n\}$  such that the matrix  $\sum_{i=1}^n A_{J_{e_i}}^2$  is diagonalized,  $1 \leq i \leq n$ , since  $\langle Sv, w \rangle = \langle (\frac{n+1}{2}c + \sum_{i=1}^n A_{J_{e_i}}^2)v, w \rangle$  and  $S$  is symmetric. Then we have

$$(3.8) \quad f_{11}(v) = f_5(v),$$

because of  $f_{11}(v) = \langle \sum_{i=1}^n A_{J_{e_i}}^2 v, v \rangle |h(v, v)|^2$  and  $f_5(v) = \langle \sum_{i=1}^n A_{J_{e_i}}^2 v, A_{h(v,v)} v \rangle$  for  $v \in UM_x$ . Therefore from (3.8), (3.1) and  $f_1(v) \geq f_9(v)$  we can show the following inequality for the matrix  $\sum_{i=1}^n A_{J_{e_i}}^2$  being diagonalized.

$$\begin{aligned}
(3.9) \quad &\frac{1}{2} \sum_{i=1}^n (\nabla^2 f_{10})(e_i, e_i, v) - \frac{1}{6} (\Delta f_1)(v) - \frac{1}{3(n+2)} (\Delta f_2)(v) \\
&+ \frac{1}{6(n+2)} (\Delta f_3)(v) + \frac{1}{3n(n+2)} (\Delta f_4)(v) + \frac{1}{6(n+2)} (\Delta f_5)(v) \\
&- \frac{1}{3n(n+2)} (\Delta f_6)(v) + \frac{1}{3n(n+2)} (\Delta f_7)(v) + \frac{1}{6(n+2)} (\Delta f_8)(v) \\
&+ \frac{(3n+2)(n+4)}{6n(n+2)^2} \left( \frac{1}{n} (\Delta f_4)(v) + (\Delta f_5)(v) \right) \\
&- \frac{(6n+8)(n-2)}{6n^2(n+2)^2} ((\Delta f_6)(v) - (\Delta f_7)(v)) \\
&- \frac{1}{2(n+2)} (\Delta f_8)(v) + \frac{n+4}{8(n+2)} (\Delta f_9)(v) \\
&- \frac{4(n+1)}{6n(n+2)} (\Delta f_{11})(v) - \frac{8(n+1)}{6n(n+2)^2} (\Delta f_{12})(v) + \frac{4(n+1)}{6n(n+2)^2} (\Delta f_{13})(v) \\
&\geq \sum_{i=1}^n |(\nabla h)(e_i, v, v)|^2.
\end{aligned}$$

Define a function  $g$  on  $U_x M$  by the following equation;

$$\begin{aligned}
 g(v) = & -\frac{1}{6}f_1(v) - \frac{1}{3(n+2)}f_2(v) \\
 & + \frac{1}{6(n+2)}f_3(v) + \frac{1}{3n(n+2)}f_4(v) + \frac{1}{6(n+2)}f_5(v) \\
 & - \frac{1}{3n(n+2)}f_6(v) + \frac{1}{3n(n+2)}f_7(v) + \frac{1}{6(n+2)}f_8(v) \\
 & + \frac{(3n+2)(n+4)}{6n(n+2)^2}(\frac{1}{n}f_4(v) + f_5(v)) \\
 & - \frac{(6n+8)(n-2)}{6n^2(n+2)^2}(f_6(v) - f_7(v)) \\
 & - \frac{1}{2(n+2)}f_8(v) + \frac{n+4}{8(n+2)}f_9(v) \\
 & - \frac{4(n+1)}{6n(n+2)}(f_{11}(v) + \frac{2}{n+2}(f_{12}(v) - \frac{1}{2}f_{13}(v))).
 \end{aligned}$$

From the assumption of (3.1) we see that the Ricci curvature is bounded from below. Noting that (3.5) and

$$\begin{aligned}
 g(v) \leq & \frac{1}{6(n+2)}f_3(v) + \frac{1}{3n(n+2)}f_4(v) + \frac{1}{6(n+2)}f_5(v) \\
 & + \frac{1}{3n(n+2)}f_7(v) + \frac{1}{6(n+2)}f_8(v) \\
 & + \frac{(3n+2)(n+4)}{6n(n+2)^2}(\frac{1}{n}f_4(v) + f_5(v)) \\
 & + \frac{(6n+8)(n-2)}{6n^2(n+2)^2}f_7(v) \\
 & + \frac{n+4}{8(n+2)}f_9(v) \\
 & + \frac{4(n+1)}{6n(n+2)^2}f_{13}(v),
 \end{aligned}$$

by the Generalized Maximum Principe due to Omori [10] and Yau [14] and the Codazzi equation, we can prove

$$(\nabla h)(e_i, e_j, e_k) = 0$$

for  $e_i, e_j, e_k, 1 \leq i, j, k \leq n$  belonging to an orthonormal frame  $\{v = e_1, e_2, \dots, e_n\}$  such that the matrix  $\sum_{i=1}^n A_{je_i}^2$  is diagonalized. Since tangent vectors are their linear combinations, by the linearity of  $\nabla h$ , we conclude that  $M$  is a submanifold of  $P_n(C)$  with parallel second fundamental form. By the classification of Naitoh [8] we obtain Theorem.

## References

- [1] B. Y. CHEN and K. OGIUE, *On totally real submanifolds*, Trans. Amer. Math. Soc. **193** (1974), 257-268.
- [2] GAUCHMAN, H, *Pinching theorems for totally real minimal submanifolds of  $CP^n(c)$* , Tohoku Math. J. **41** (1989), 249-257.
- [3] MATSUYAMA, Y, *On some pinchings of minimal submanifolds*, Proceedings of the Workshop on Geometry and its applications in Honor of Morio Obata, November 1991, edited by Tadashi Nagano et al., World Scientific, Singapore (1993), 121-134.
- [4] MATSUYAMA, Y, *On curvature pinching for totally real submanifolds of  $CP^n(c)$* , J. Ramanujan Math. Soc. **9** (1994), 13-24.
- [5] MATSUYAMA, Y, *Curvature pinching for totally real submanifolds of a complex projective space*, J. Math. Soc. Japan **52** (2000), 51-62.
- [6] MATSUYAMA, Y, *On totally real submanifolds of a complex projective space*, Nihonkai Math. J. **13** (2002), 153-157.
- [7] MONTIEL, S, ROS, A AND URBANO, F, *Curvature pinching and eigenvalue rigidity for minimal submanifolds*, Math. Z. **191** (1986), 537-548.
- [8] NAITOH, H, *Totally real parallel submanifolds of  $P^n(C)$* , Tokyo J. Math. **4** (1981), 279-306.
- [9] OGIUE, K, *Recent topics of differential geometry*, Mathematics: the publication of the Mathematical Society of Japan **39** (1987), 305-319.
- [10] OMORI, H, *Isometric immersions of Riemannian manifolds*, J. Math. Soc. Japan **19** (1967), 205-214.
- [11] O'NEILL, B, *Isotropic and Kaehler immersions*, Can. J. Math. (1965), 907-915.
- [12] XIA, C, *Minimal submanifolds with bounded second fundamental form*, Math. Z. **208** (1991), 537-543.
- [13] XIA, C, *On the minimal submanifolds in  $CP^m(c)$  and  $S^N(1)$* , Kodai Math. J. **15** (1992), 143-153.
- [14] YAU, S. T. *Harmonic functions on complete Riemannian manifolds*, Comm. Pure and Appl. Math. **28** (1975), 201-228.

1-13-27 KASUGA, BUNKYO-KU, TOKYO 1128551, DEPARTMENT OF MATHEMATICS, CHUO UNIVERSITY, TOKYO, JAPAN

*E-mail address:* matuyama@math.chuo-u.ac.jp